N=-27-E5| AAEEEE BiIFEY21
X Efstt 12/1-12/19 1/8-1/31 2/1-2/28 3/1-3/13
EEEE B RD FrybA| EEL TLR [ TLR FEES JEES FEES JEES FEES FEES FEES FEES
2EE=(0BEL JAIR — -— -— 35000 34300 37000 36250  21000] 22750  21000[  22750[  21000[  22750[  21000] 22750
Z2EE=IL# JAIR — — -— 24000 23500 26000  25500]  18000]  16800]  18000[  16800[  18000[  16800]  18000] 16800
A2EE=85% JAIR — — — 21000 20500 23000 22550 15750 14700 15750 14700 15750 14700 15750 14700
Z2EER=HZE JAIR — — -— 22000 21550 24000 23500  16500]  15400]  16500]  15400[  16500[  15400]  16500] 15400
fam=HE JAIR — — — 21500 21050 23500 23050 16150 15050 16150 15050 16150 15050 16150 15050
LB =% JAIR — — -— 14500]  14200] 14500 14200 10900]  10150]  10900]  10150[  10900[  10150[  10900] 10150
LEBR=HE JAIR — -— -— 11500]  11250[  11500] 11250 8650 8050 8650 8050 8650 8050 8650 8050
[ 5 78 = AL 1% JAIR — — — 35100] 34400 36900  36150]  29250] 27300]  29250[  27300[  29250[  27300[  29250] 27300
INCTis i JAIR — -— -— 33000 32350 33000 32350  24000]  21000]  24000[  21000[  24000[  21000[  24000] 21000
L BT =2 JAIR — — -— 19500]  19100]  21500]  21050[  14650[  13650|  14650] 13650 14650  13650] 14650 13650
=== JAIR — -— — 18000]  17650]  20000]  19600] 13500 12600  13500]  12600]  13500[  12600[  13500] 12600
MBE=5H RAC — — — 11600] 11350  12600] 12350 6950 8700 6950 8700 8100 8700 8100 8700
BHE=FEAE RAC — — -— 19700]  19300]  20700]  20300] 11800 14800 11800 14800  13800[  14800[  13800[ 14800
MBE=FAAR RAC — — — 21100] 20700  21100] 20700  12650]  15850] 12650  15850[  14750[  15850[  14750] 15850
MEB=JLXFE RAC — -— -— 21100] 20700 21100 20700 12650 15850 12650  15850[  14750[  15850[  14750] 15850
BEAE=FtXE RAC — o — 6200 6100 6200 6100 3700 4650 3700 4650 4350 4650 4350 4650
BE=%E RAC — — — 7890 7750 7890 7750 — — — — — — — —
BE=EERE RAC — — — 7140 7000 7140 7000 — — — — — — — —
AiE=KERE RAC — — — 6360 6250 6360 6250 —— — — — — — — —
AE=2E/ RAC — — — 6420 6300 6420 6300 —— — — — — — — —
Ea=%BRM RAC — — — 6420 6300 6420 6300 —— — — — — — — —
KR=19/MEE JAC — -— -— 10000 10000 7,000 7,500
AR =25k JAC — — -— 18940 18940 14,210( 14,680
KXER=18F5 JAC — — -— 27680 27680 20,760 21,450
EE=HE JAC — — -— 21500 22500 15,050] 16,150
ER=E5 JAC — — — 21000 22000 14,700( 15,750
ER=50 JAC — — — 20000 21000 14,000( 15,000
| |EER=E% JAC — -— — 20000 22000 14,000( 15,000
2EE=HE JAC — — -— 21500 22500 15,050] 16,150
Z2EE=H JAC — — — 21000 23000 14,700[ 15,750
HE =R JAC — — -— 9850 9850 7,390 7,630
Wil=gE JAC — — — 20000 21000 14,000( 15,000
Ei =Rl JAC — — — 24000 25000 16,800( 18,000
E=FRI& JAC — — — 18000 19000 12,600( 13,500
BERS=Rl JAC — — — 25000 26000 17,500 18,750
| |BRES=L5 JAC -— — -— 20000 22000 14,000 15,000
BRE=8f JAC -— — — 24500 25500 17,150( 18,400
ERS=#l JAC -— — — 22000 23000 15,400( 16,500
EBRE=ETE JAC — — — 10160 10160 7,620 7,870
| |BRE=EBAS5 JAC -— -— -— 11370 11370 8,530 8,810
EBRE=E/5 JAC -— — — 20620 20620 15,470 15,980
| |[ERES=HXKEH JAC — -— — 24950 24950 18,710[ 19,340
BRE=5H JAC -— — — 26300 26300 19,730[ 20,380
BEXE=ERES JAC -— — — 7370 7370 5,530 5,710
BERE=fZ25 JAC -— — — 10830 10830 8,120 8,390
BERS =K REB JAC -— — — 14030 14030 10,520( 10,870
K RE =5 JAC — — — 7800 7800 5,850 6,050
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1| EER=KBR JAL [ JAS 10,000 40% 9,800
2| HER=1ak JAL [ JAS 10,000 64% 9,800
3| EERE=#L1% JAL [ JAS 10,000 60% 9,800
NETTES JAL [ UAS JTA 10,000 68% 9,800
5| KBk =12 JAL [ JAS 10,000 38% 9,800
6| AMR=FLIE JAL [ UAS JAIR 10,000 68% 9,800
7l KIR=3F JAL [ UAS JTA 10,000 61% 9,800
8| FBE=4L1% JAL [ UAS 10,000 75% 9,800
o] :ER=HF JAL JTA 10,000 51% 9,800
10[ #L1E=30x JAL 10,000 78% 9,800
11| EE=2%#5| JAS 10,000 68% 9,800
12 ERER=hBJI JAS 10,000 67% 9,800
13| ER=§I% JAS 10,000 66% 9,800
14 ERER=0BFE JAS 10,000 66% 9,800
15| HERER=pKEE JAL 10,000 58% 9,800
16| HR=% JAS 10,000 57% 9,800
17 BER==R JAS 10,000 56% 9,800
18] HER=FfH JAL 10,000 46% 9,800
19| EE=8EIl JAL 10,000 40% 9,800
20 FHE=/A JAL | JAS 10,000 40% 9,800
21| EE=F#HE JAS 10,000 55% 9,800
22| HR=[EL JAL 10,000 57% 9,800
23| HR=IL5 JAL | JAS 10,000 57% 9,800
24| EER=1LOF JAL 10,000 62% 9,800
25 RE=H=E JAS 10,000 58% 9,800
26) FR=EE JAS 10,000 56% 9,800
27| EE= .—ﬁf JAS 10,000 56% 9,800
28] Hm=#L JAL 10,000 59% 9,800
29| ER=5% JAL | JAS 10,000 58% 9,800
30| EFR=Jdtu JAS 10,000 64% 9,800
31| FE=X% JAL | JAS 10,000 63% 9,800
2| EE=FEI% JAL [ JAS 10,000 66% 9,800
33| EE=FEXK JAL | JAS 10,000 64% 9,800
4| EE=5lF JAL | JAS 10,000 64% 9,800
3B| FR=FERE JAL [ JAS 10,000 66% 9,800
36| FR=BEKE JAS 10,000 72% 9,800
37| EE=82d JTA 10,000 79% 9,800
38| HER=HIiE JTA 10,000 80% 9,800
39| FE=%TE JAL JAIR 10,000 26% 9,800
40| KBR=hEJII JAS 10,000 72% 9,800
41| KER=§I% JAS 10,000 72% 9,800
42 RfR=MbRIL JAS 10,000 71% 9,800
43| KR =BHEE JAL 10,000 66% 9,800
4| XKIR=F% JAS 10,000 64% 9,800
45| KfR==iR JAS 10,000 65% 9,800
46| KBR=%'H JAS 10,000 60% 9,800
47 Kfr=1t%& JAS 10,000 63% 9,800
48[ KBr=1L# JAS 10,000 59% 9,800
49 Kfr=1L& JAS | JEX 10,000 57% 9,800
50] KfR=1E5 JAL JAIR 10,000 57% 9,800
51| Kix=%m8 JAS 10,000 55% 9,800
52| KER=#& JAS 10,000 43% 9,800
53] KIR=HZE JAS JAC 10,000 31% 9,800
54| KBr=#21L JAS JAC 10,000 21% 9,800
55| KiR=X% JEX 10,000 31% 9,800
56| Kix=FI& JAS | JEX 10,000 48% 9,800
57| KBR=fX JAS | JEX 10,000 43% 9,800
58| Kirx==lF JAS | JEX 10,000 43% 9,800
59| KIx=FERE JAS | JEX JAC 10,000 51% 9,800
60| KfR=EEXE JAS 10,000 64% 9,800
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61| KIx=EH JTA 10,000 75% 9,800
62| Kix=%H1i8 JTA 10,000 76% 9,800
63| BHE=%L1R JAL [ UAS 10,000 65% 9,800
64| HHE=FI JAS 10,000 69% 9,800
65| BEE=FFH JAS 10,000 60% 9,800
66| BEHE=TEE JAS 10,000 57% 9,800
67| ZHE=E JAS 10,000 54% 9,800
68| BEE=%H JAIR 10,000 53% 9,800
69| HHE=12R JAL 10,000 47% 9,800
0 2HE=R% JAS 10,000 59% 9,800
71| 2HE=FEX JAS 10,000 55% 9,800
72| ZEE=ERE JEX 10,000 59% 9,800
73| ZEE=3FH JAL 10,000 66% 9,800
74| EE=%F%% JAS 10,000 72% 9,800
75| fR=1E%& JAS 10,000 71% 9,800
76| f@=1{L& JAS 10,000 70% 9,800
77| fE=@mXK JAS 10,000 63% 9,800
78| fERE=#L JAS 10,000 37% 9,800
79| fEi=%ElF JAS 10,000 33% 9,800
80| fEEI=FERE JAS JAC 10,000 *29% 9,800
81| #L1E =23l JAS 10,000 38% 9,800
82| #LIE =4I JAS HAC 10,000 33% 9,800
83| FLIR=FKEE HAC 10,000 20% 9,800
84| #LIE=FF JAS 10,000 38% 9,800
85| #LIE==iR JAS 10,000 38% 9,800
86| #LIE=FE JAS 10,000 47% 9,800
87| FLIE=FELE JAS 10,000 48% 9,800
88| #LIE=IL# JAS 10,000 55% 9,800
89| #LIE=AlL& JEX 10,000 54% 9,800
90| #LIR=#K JAS 10,000 63% 9,800
91| #LIE=IE5 JAS 10,000 72% 9,800
92| HEE={LE HAC 10,000 57% 9,800
93| EKEE=1BJII HAC 10,000 35% 9,800
94| HEE=HIF& HAC 10,000 55% 9,800
95| EHEE=Zm Al HAC 10,000 57% 9,800
96| BJI=45IE% HAC 10,000 29% 9,800
97| Ii&E =R JAS 10,000 63% 9,800
98| &= JAS 10,000 64% 9,800
9| BERE=EZXZXE JAS JAC 10,000 43% 9,800
100] ERE=#ZE JAS JAC 10,000 51% 9,800
101 BE=FF JTA 10,000 75% 9,800
102| /MA=FRZH JTA 10,000 71% 9,800
103] MIWL=FF JTA 10,000 65% 9,800
104 BE1=FF JTA 10,000 62% 9,800
105] #MU=FFZH JTA 10,000 62% 9,800
106| AREHE=H1iE JTA 10,000 47% 9,800
107] BBHE=H JTA 10,000 31% 9,800
108] AiE=FH JTA 6,000 37% 5,900
109 MBF=AKXKE JTA| RAC 6,000 38% 5,900
10| AIE=5#H JTA| RAC 6,000 37% 5,900
11| BF=5HEH RAC 10,000 63% 9,800

-+ JACIZ DT X BB E23%ERYET

B5IEQ: BEMHIAASEEEI®LE
ZH AARTHIR: 20025128270 ~20034%1H5H
MEHDODCEBAICERLTIE., ALEMMERREFIREIZE— A EH-YI00AZHLZTET,




